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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the snuatlon

Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
200 20 120 12 20 % of 600 is 20%¥600=7| 1
Sann 25K 0 o S e LS abicd| 2
Antecedents | Consequents Extremes Means In a proportion a:b::c:d "b" and "¢" are called
5.5 % 45% 3.5% 2.5% DI PPRENATAT I
Zakat is deducted at a rate of
2 1 ] ] Uﬂ U’r;.. ..J)J..«LLUL—U Iul.«:’ubc-_. vl 4
3 2 2 8 - nlo Kt ozr S 1910y
If there are two or more than two daughters or
an agnatic grand daughter then their share is
SV tul| espedsiicd | evjedsicd | ejei=sicd Seteyel| 5
None of these SP>CP SP < CP SP=CP Profit is earned when
uEdd | aEm | aEvP | ud P #QedSHS L2 | 8
Lessee Drawer Insured Insurer [ The person or entity whose insurance is being done is called the
el ey 256 J IARACTIRVAY-1 I
Mark up Premium Discount Bonus The periodic instalment to be paid by the insured is called
a0 | pl e g Favie| g2 Fam, iFePE Sty 8
Income tax | Property tax | Directtaxes | Indirect taxes |Taxes of the forms of duties, motor vehicle taxes are called
udtk | gL A (gL dpns] LS A e i fzd | o
Sales tax Income tax Excise duty Tax The tax in addition to the price of the article is called
% Ve 13X i gV et 10
Base Exponent Radicand Radical Ina", nis called
43 93 23 e Vb gt 33 3 | 11
T A.M. between -\6 and 3\/?: is
+3 £36 £9 NG S bl § Poen L 12.41-3] 12
% 1G.). between -3 and -12 is
{1.2,3,4} {1} ¢ {1,2.35% 5‘ . A=2nA={4)U={12 34}/ 13
! A, = {4}, then A'=?
L A Foot ALy Y o b UGS y5 | 14
. Abscissa Origin Straightline | Ordinate | The perpendiclilar distance of a point from
y-axis is called
i bt QU bl o e T SIS LT EA )7 Sar S| 15
© Weighted Mean Mode Median  |If all numbers in a set are added together and then the
+ Mean total is divided by the number of scores in the set is calied
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Answer briefly any SIX parts from the followings:- 6x2=12 _l,,[)}f..-..;u/”{.m { a_:jfc..ufgbap -2

Express 95% as fractions in lowest form.
If there are 800 cars in a car parking and 80% of them

are Pakistan made, Find the number of Pakistani cars.

Simplify the ratio 24:12 in the simplest form.

Calculate the amount of zakat on an amount of Rs. 500000.
Define Usher. '
Find the SP when CP = Rs.1540, Loss = 5%

Lkt P G i)
Find SP if MP = Rs. 728, Discount = 6%

Define cheque.

ot Lol T 95%

K B0% o 2 sl Ut K 8OO U BT 1]
-l,f/r:lyjlﬁ-d’u»((jwlk sun L.i 4 c}'.')/i;

ot Lo 212e
/#3554 500,000

Ny Oy Ny

%5 = e 11540 =4k Ly SpPrasjod
Define business partnership.,u.‘d..?/v A28
il bnger=728, 0 = 6% LU/ ehjcd (iX)

(M
(i)

(iii)
(iv)
v)
(vi)
(vii)

Answer briefly any SIX parts from the followings:-.6x2=12 .‘_{)}}awﬁélz# Z ;Jf:-;ﬁdiba -3

Convert 250 US Dollar into sterling pound.
Define Sales tax.

Define excise duty.

V2 +332 simplify it

Y27x"® simplify it

Find Pth term of a G.P x, x°, X°, .....

A Y iy

Find the 5th term of a G.P 4, -12, 36, .....
Find G.M between 9 and 5

LSSt Bk LiN3 1250 ()
LS PEEE iy

S PSS (i)

_Qf/""?f J2+332 (iv)

LIV

stx xxs

_Q/r}"{:q;PJJ«LL}/‘x, X3, x5, ... (vii)
L b5 4,12, 36, . (A (i)
LA S ALE 9 (iX)

4 5 G

X XX XX -
Sy Simplifyit -/
X XX XX

Answer briefly any SIX parts from the followings:- 6x2=12 -g{)'(;ellﬂ/#ﬁ 12! § & Jfa:.. 4 Lb o -4

IfA={1478) B={4689}thenfind 4B
If U={1,2,3,....9} A={2,3,6,9} then find A
Define complement of a set.

Draw B(3,2) on graph paper.

Write down the co-ordinate of a point lying below
x-axis and on y-axis at a distance of 6 units.

Draw A(7,2) , B(-6 , -3) on graph paper.
Define frequency.

Find G.M of 2,4 and 8.

Find the Range of 2,9,3,6,12,8

P.T.O

U/ AUB 5B ={4889), A={1478}] ()
S R I A=2,3,6.9) 5 U=(1,2,3,...91 1 (i)
syt WL 2 i

U ST BEB2) ()
Ll 16 Fxy Ay B (V)

S S B8, 3) #IA(T.2) (vi)
S S (i)
Ll € 81124 (viii)
gl §2936128 (ix)
924.0919- 18000
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Part II
Note: Attempt any three questions,
A Shop Keeper Plans to produce 200 articles with the help
of 5 persons working 8 hours daily. How many articles can
be made by 8 persons if they work 6 hours daily.
Asghar left g property of worth Rs. 4,80,000/= He left
behind a widow, three sons and four daughters.

Calculate the share of each one,

A boy bought a book for Rs 575 and sold it for Rs 320.
What was his loss percentage?

How much time a sum of Rs 9400 will take to become

gou '20
Rs 10951. If the same is invested at the rate of 35 Yo

per annum.

If the total annual income is Rs 6,25,000 with exemption

of amount of Rs 1,50,000 then find tax chargable @ 4.5%
8.67x3.94
1.78

Solve with the help of logarithm table.

Find three A.Ms between 11 and 19,

If U= {46,910} A= {46} B= {6.8,9} verify

(AUB) = A4° ~ B

Draw the graphof y=3x+5

For the data 4,6,7,4,8,9,7,10 find mean and median,

ru -
8324 ylfeprloemie §f oy
K AN200 £k S &8 o 1u f Uy T5 e, L Qs
FIg v Seim el 6 4,1 S the s S
e dat
L& UG S 49,4,80,000,14% g ()

&;’I.Jﬂﬁ u._ﬁﬁ = JJ‘?@L{}){UE}J?JJI:L_ Gk ax
L

.:é.v;uf{.r_u 320;}’(5*};,&‘,_:: 575 0 L. Lﬂ-—{l O-s
e s ot
CfZ Gz et Bt pot 352% NPYACY.

L L 4110951 4_,,04001.

150,000 2472 _n¢_1,6,25,000 J 20t S, i 07
-Effr:‘*‘u-gf:fdsaL;J4.5%<JJT.3;,«$.”

8.67x3.94 ; 7o (L)
_‘—I:'_!—S*—-*_cf;d’;u()rdsqéﬁb’:’ b

_.Zﬁifll"b’d‘aufcjk»£19»-'11 O.8
U/ ek 7U=(46910) A= {46} B={6,89) /1 ()

(AVUB) = 4~ B*

E ¥y =359

el b€ 4,6,7,4,8.97 1 0erL Ui (L)
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
by hesl d/" bl 31" - dl.k'(..-»f' d)ﬁ&gﬂﬂ:"...?/“'u'( 1
Median Geometric Mean Mode The middie value of data arranged in
Mean numerical order is called
200 20 120 12 20% of 600 is : 20% §600=7| 2
20 35% 35 20 %

2?0 in terrns of percentage is bﬁf&ud ey
20 % 10 % 5% 25% e VA P82 SIS 26 B d;..: 4

On a crop produced on natural resources,
I Ushr is deducted at a rate of ;

i

5.5 % 4.5% 3.5% 25 %  |Zakatis deducted atarateof < YT SJ d¥ U557
ehjedzedittn | jed>aied | ehjed=iisd | enjedesicd Sig a6
SP =MP SP>CP SP=CP SP<CP |Loss is there when
st ey e v |Theperiodic -t Z SIS L | 7
Discount Mark up Premium Bonus installment to be paid by the insured is called
e w o fe g EI SIS S| 8
Rate Interest Tax Time The percentage of Profit/Markup charged is called
Sy, | Fx o, | Fotie | ctelPoe L antyod Sitinn] o

Indirect Tax Sales Tax Property Tax | Direct Tax | The tax charged on the owner  _r P.,“./ <!
of a Land, house, flats or building is called.

u’givl)g U'g.f’-'" JFL}{L; u’gﬁ The taxes of - % E;"_/;’/L/E;ﬁ ‘FJJ-?J?.%/’:'(;:’{; 10

Indirect Tax Sales Tax Property Tax | Income Tax | the form of duties, motor vehicle taxes are called

Jﬁ‘?tﬁ? mJ"L’ mé' 4 31.5 < .wb.:r Jg 11
An Irrational | A rational An Integer ANatural | f3 jg
Number Number Number
¥ g 1 12
X 2 1 < % 2
0 81 49 7 | e
Fourth Term of 9» = a___])_z'
5V a5 5V5 75 e Vb 078 245 1 645 | 13
_ ' What is A.M. between 6+/5 and 245 B
{4} {5} {6} {4.5.6} & (R)=? R = {(4,5).(5.4)(5.6).6,4) /1| 14
If R = {(4, .(5,6),(6, 4}} then Range ofR= ?

0 6 -3 2 X=? f 3x i 15
If y = 3x, then for x = 2 we havey = K

925-0919- 22000 (2)
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Part I Jst -~

Answer briefly any SIX parts from the followings:- 6x2=12 _q&f:.uzﬂétzn £ c.ch:,u!(_b G -2

4 .
Express '1'6-20 in simplest form
There are 1029 students in a school 504 out of them are
girls what is the ratio of boys to the nu mber of girls
Find the ratio 8 rupees each to 72 rupees per dozen
Calculate Zakat on silver amounting to Rs 300000.
How many types of Zakat?

1 0,
Find the CP if SP = Rs1755 and profit 125 %o
Find the SP if CP = Rs950 and profit Rs 10%

What is meant by A.T.M etV e E-d- ! (ix)

e o tS ;45 120 (i)
AEI g ISP 504 e Pt #1020 £ JFILT (i)
e Yon s Sud?

L Pis3ers T2 11,8 7 Z (#2 (ii)
gl e e 300,000 S S S (W)
e F35 W)

11185 e31ped 12%% PN urd i)
10% Bl & 1s9501- £ = S s p e (wii)

Define SP? S E s (i)

Answer briefly any SIX parts from the followings:- 6x2=12 Sz Pl g M kditn 3

Define tax. 2w A i)

Write 0.424 in scientific notation. 0.42428 2 276 (iv)
log81

Solve lo g._ 9

If logx = 4.4236 then find x
Find AM between x -1, and x + 7
Find a,, of G.P 2,6,18......

Insert two G.M between 1 and 8

Define cheque. -rs_f..%:,ﬁJ..g 1))

Define property tax. -é _»,,f/JJ .f; J{I.; (iii)
log81

gy &S W

it § xin logx=4.4236/1 (vi)
& s Slupn Lx -1, x+ 7 (vil)
A1 28,18, -G (vl
s Angi8 st (i)

Answer briefly any SIX parts from the followings:- 6x2=12 ..;[)}/’.:;Uﬁ/‘*& A4 c.ch..gﬁngb» -4

Define complement of a set.

Let A={2,3,4,5},B={24,6,8}find A-B

If U={1.2,3,.....8}, B={2,3,5,7} then find B B
Represent the point (0,7) on the graph.
Convert 20 °C into °F (Degree fahrenheit)
Define frequency. -’:f;...él/‘TJ)p" (vii)

Find the range for the set of data. 10,18,9,6,22

Define Variance

P.T.O

LEaS e )

A-B &t in A={2345),8=(2468 /1 (i)
BUB® /¥ mU=(123,....8}, B=(2.3.57}/1 (iii)
sl onS ()

SRS A7) 20°C (V)

Define Ordinate. oy fSeaut i)

gL per§ 10,189,622 syl &y (viii)
e (i)

926-0919- 22000
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Part I

Note: Attempt any three questions.

A manager plans to produce 100 bicycies with the help
of 25 persons working 4 hours daily. How many bicycles
can be made by 40 persons if they work 3 hours daily?
The amount of a property left by deceased person is to
be distributed among his daughters Rs 3,30,000. if he
had left three daughters only, what would be the share
of each daughter.

Find the cost price, if a fan is sold for Rs. 1470, to get a

1
profit s th of its cost price.

At what annual rate of profit would a sum of Rs. 680 will
increase to Rs. 850 in 3 years and 4 months.

Khalid works 6 day-week, Find his gross monthly wage,
if his rate of pay is Rs. 200 per day.

Simplify and write your answer in scientific

~0.96x10
notation. - rE
2x10
as _ 4 4
Find the n-thterm of a G.Pif =~ 6 and & ==
_ G 9

If A={1,7,11,15,17,21} B={11,17,19,23} and C={2,3,5}

then prove that (AN B)YNC = AN(BNC)

Draw the graph of y=3x+5 -

Find the standard deviation for the following values. Find

variance also 1,2,3,4.6,8,11

(9 o

8x3=24  _ySfeyrletrde §f o)

Lt JE0100 o4 Setin &b o uSumnT25 20 05
SE 87405 e i B S o v Y
& S

St St = e 2 Sl ()
Ur o L el 1 e 330,004
' -4 (2 T

L1410/ E LNL LSS & é € ied O-6
el S T te e}
Lod o3 on e g 0.6800 L1 ettt (L)

0§ Ll 1/850
T oy 9200 ) Sl e 610618 UL 25 A6 DT
e GBS
T
M— Ao oizay A ()

2x10

- . 4 a; 4
_Jﬂg(‘u.f:ndl.uﬂ}/:'x a = -’g s ;;”5 /'1 (»-8
B={11.17,18,23}, A={1,7,11,15,17.21}./1 (&)

(ANB)NC=AN(BNC) 2 =it 3 C={2,3,5)

_f—_;=..)lfl(y=3x+5@_9

..u:/((’:i*":f,/.‘?ﬂld,jd;kvc__’. [-:')’J_i s (&)
1,2,3,4,6,8,11
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